
Assembly and Installation Instructions for

RAM PROMASTER CITY

No-Drill Shelving Mounting Kit

9752-3-01, 975205-3-01, and 975206-3-01

VAN STORAGE SOLUTIONS
FOR THE WAY YOU WORK™

https://www.carid.com/weather-guard/


2

ATTENTION: PLEASE READ AND UNDERSTAND ALL INSTRUCTIONS AND WARNINGS 
BEFORE ASSEMBLING, INSTALLING OR USING THIS PRODUCT.

9752-3-01

DESCRIPTION QTY

M6-1.0 x 16mm Hex Head Bolt 28

M8-1.25 x 20mm Hex Head Bolt 4

M8-1.25 x 40mm Hex Head Bolt 2

7/16"-20 x 3/4" Hex Head Bolt 2

M6-1.0 x 50mm Hex Head Bolt (Black Oxide) 1

M6-1.0 Nylon Lock Nut 22

1/2" Floor Mounting Spacer 4

1/4" Flat Washer 22

5/16" Flat Washer 2

7/16" Flat Washer 2

M6-1.0 Blind Fastener 6

Blind Fastener Installation Tool 1

9752-3-01

DESCRIPTION QTY

42" Wide Shelf Mounting Foot 1

36" Wide Shelf Mounting Foot 1

Driver Side Mid Bracket 1

Curb Side Mid Bracket 1

Rear Upper Shelf Bracket 1

Driver Side Rear Side Bracket 1

Curb Side Rear Side Bracket 2

975205-3-01

DESCRIPTION QTY

36" Wide Shelf Mounting Foot 1

Front Mounting Foot 1

Driver Side Mid Bracket 1

Driver Side Front Upper Bracket 1

Rear Upper Shelf Bracket 1

Driver Side Rear Side Bracket 1

975206-3-01

DESCRIPTION QTY

36" Wide Shelf Mounting Foot 1

Front Mounting Foot 1

Curb Side Mid Bracket 1

Curb Side Front Upper Bracket 1

Rear Upper Shelf Bracket 1

Curb Side Rear Side Bracket 1

975205-3-01 and 975206-3-01

DESCRIPTION QTY

M6-1.0 x 16mm Hex Head Bolt 23

M8-1.25 x 20mm Hex Head Bolt 2

M8-1.25 x 40mm Hex Head Bolt 1

7/16"-20 x 3/4" Hex Head Bolt 1

M6-1.0 x 50mm Hex Head Bolt (Black Oxide) 1

M6-1.0 Nylon Lock Nut 23

1/2" Floor Mounting Spacer 3

1-1/4" Shelf Mounting Spacer 1

1/4" Flat Washer 23

5/16" Flat Washer 2

7/16" Flat Washer 1

M6-1.0 Blind Fastener 3

Blind Fastener Installation Tool 1

TOOLS REQUIRED

10mm Socket 10mm Wrench

13mm Socket 13mm Wrench

17mm Socket 7/16" Wrench

7/16" Socket 9/16" Wrench

5/8" Socket Ratchet Driver

T40 TORX Bit 1" Hole Saw

Torque Wrench Level

Marker

PLAN YOUR VAN (TIPS FOR FASTER INSTALLATION)

HARDWARE KIT PARTS LIST

• Follow these instructions to install your WEATHER GUARD® van shelving inside a RAM Promaster City van.

• Using these mounting brackets you will be able to install the van shelving using pre-existing weld nuts
and mounting holes.

• Take into consideration any REDZONE end panel mounting accessories to be used and the desired location. The
shelves can be easily adjusted.

• Before drilling for the blind fasteners, check for electrical wiring and air-bag system components.

Be safe - always wear protective eyewear to 

keep debris out of your eyes when installing 

WEATHER GUARD® Van Products.

CAUTION



3

9752-3-01 Rear Shelving Mounting Kit for RAM Promaster City

975205-3-01 Driver Side Shelving Mounting Kit for RAM Promaster City

975206-3-01 Curb Side Shelving Mounting Kit for RAM Promaster City

Curb Side Rear 
Side Bracket

Curb Side 
Mid Bracket

Driver Side Rear 
Side Bracket

Driver Side 
Mid Bracket

36" Wide Shelf 
Mounting Foot

36" Wide Shelf 
Mounting Foot

36" Wide Shelf 
Mounting Foot

Front 
Mounting Foot

Front 
Mounting Foot

42" Wide Shelf 
Mounting Foot

Rear Upper 
Shelf Bracket (2)

Driver Side 
Mid Bracket

Curb Side 
Mid Bracket

Driver Side Front 
Upper Bracket

Curb Side Front 
Upper Bracket

Rear Upper 
Shelf Bracket

Rear Upper 
Shelf Bracket

Driver Side Rear 
Sidef Bracket

Curb Side Rear 
Sidef Bracket



4

REAR SHELVING INSTALLATION INSTRUCTIONS (9752-3-01, 975205-3-01 AND 975206-3-01)

Using these mounting brackets you will be able to install 36" wide or 42" wide rear shelving units in a 

RAM Promaster City using pre-existing weld nuts and mounting holes when installing 9752-3-01. WEATHER 

GUARD® van shelving and accessories provide flexibility in customizing the storage space for the needs of 

tradesmen and professionals.

NOTE: 36" Rear Shelving Unit MUST be used to be able to install 28" Front Shelving Unit for 975205-3-01 

and 975206-3-01. 

STEP 1. Using the T40 Torx bit and a ratchet or driver, remove the tie down hooks from the van floor. Both 

36" wide and 42" wide shelf units will use the weld nut from the rear tie-down hooks. Only the 

36" wide shelf unit will need the other set of tie down hooks.

STEP 2. Determine if you will be installing 36" wide or 42" wide shelving and select the appropriate 

mounting feet. Starting at the rear of the van, install a Mounting Foot to the van floor using (1) 

M8-1.25 x 40mm bolt and (1) 12.7mm thick floor spacer. Use the 13mm socket and driver to 

loosely attach the mounting foot. Do not completely tighten at this time, allowing the foot to 

pivot about the mounting bolt. Repeat with the Curb Side Front Mounting Foot.

Use weld nuts for 42" 
wide shelf unit

Remove tie-downs for 
36" wide shelf unit

Mounting Foot 
(installed)

42" Mounting Foot 
(installed)

Mounting Foot  
(installed for 36" wide shelf unit)

Mounting Foot 
(installed)



5

REAR SHELVING INSTALLATION INSTRUCTIONS (9752-3-01, 975205-3-01 AND 975206-3-01)

INSTALLATION PROCEDURE USING BLIND FASTENERS

Black Oxide Bolt

Oil

9/16" 
Wrench

Installation 
Tool

Blind 
Fastener

Flat Washer

STEP 3. Install (6) M6-1.0 Blind Fasteners for the Rear Driver Side Bracket, the Rear Curb Side Bracket, 

and the (2) Upper Shelf Brackets in existing holes of the RAM Promaster City. 

Referring to the picture below, locate the holes in the rear pillar and on the side wall of the van. 

Follow the instructions below and install the M6 blind fastener in these holes on both the driver 

and curb sides.

Use this hole for the Rear 
Driver Side Bracket

M6-1.0 blind 
fastener installed.

Use these holes for the 
blind fastener for  

Upper Shelf Bracket

Place a drop of oil on the black oxide bolt before assembling as shown on right.

Place the Blind Fastener in the hole and use a 10mm socket and driver to 

tighten the black hex bolt until the blind fastener is fully sealed.

When setting black hex bolt, it will start out hard. As the Blind Fastener “bulbs” 

out it will get easier, until it bottoms out or sets.

Make sure the Blind Fastener and Installation Tool do not turn during installation.

Before drilling for blind fasteners, check to make sure you won’t be damaging 

wiring, gas lines, brake lines or other critical vehicle systems.

Too much pressure while drilling or setting the blind fasteners may cause 

dimples in the body panel around the holes.



6

REAR SHELVING INSTALLATION INSTRUCTIONS (9752-3-01, 975205-3-01 AND 975206-3-01)

STEP 4A. Attach mounting brackets to the 36" wide shelf units. 

Starting with the Driver Side 36" wide shelf unit, attach the Rear Driver Side Bracket to the rear 
end panel using the top set of end panel mounting holes using (2) M6-1.0 x 16 mm bolts, (2) flat 
washers and (2) M6- 1.0 lock nuts with a 10mm socket and driver as show in the figure. Do not 
completely tighten the M6 bolts yet, allowing some flexibility for installing the shelf unit. 

Next, with the Upper Shelf Bracket oriented as in the figure, attach the Upper Shelf Bracket to the 
top shelf in the 2nd, 3rd, and 4th shelf holes going from left to right using (3) M6-1.0 x 16 mm 
bolts, (3) flat washers and (3) M6-1.0 lock nuts with a 10mm socket and driver. Do not completely 
tighten the M6 bolts yet, allowing some flexibility for installing the shelf unit. 

Finally, position the Front Driver Side Bracket (solid, no cut outs) on the front end panel with the side 
that mounts to the van pointing towards the front of the van as shown in the figure. Attach the bracket 
to the end panel in the 7th and 8th end panel mounting holes using (2) M6-1.0 x 16 mm bolts, (2) 
flat washers and (2) M6-1.0 lock nuts with a 10mm socket and driver as show in the figure. Do not 
completely tighten the M6 bolts yet, allowing some flexibility for installing the shelf unit. 

Repeat with the Curb side 36" wide shelf unit. The Rear Curb Side Bracket and the Front Curb 
Side brackets are mirror images of the driver side brackets. The Curb Side brackets have cut outs 
to help distinguish driver side from Driver side. The Upper Shelf Bracket will mount to the 2nd, 
3rd, and 4th shelf holes going from right to left. 

This mounting kit provides the flexibility to install either 36" wide or 42" wide shelf units, or a 
mixed configurations of 36" and 42" inch in the RAM Promaster City van.

1

1

2
3

4

7

8

8

Rear Driver  

Side Bracket

Front Driver  

Side Bracket

TO FRONT OF VAN

Repeat for the Curb side of the van

TO REAR OF VAN

Upper Shelf 

Bracket



7

REAR SHELVING INSTALLATION INSTRUCTIONS (9752-3-01, 975205-3-01 AND 975206-3-01)

STEP 4B. Attach mounting brackets to the 42" wide shelf units. 

NOTE: SKIP THIS STEP WHEN INSTALLING 975205-3-01 AND 975206-3-01. 36" REAR 
SHELVING UNIT IS REQUIRED. 

Starting with the Driver Side 42" wide shelf unit, attach the Rear Driver Side Bracket to the rear 
end panel using the top set of end panel mounting holes using (2) M6-1.0 x 16mm bolts, (2) flat 
washers and (2) M6-1.0 lock nuts with a 10mm socket and driver as show in the figure. Do not 
completely tighten the M6 bolts yet, allowing some flexibility for installing the shelf unit. 

Next, with the Upper Shelf Bracket oriented as in the figure, attach the Upper Shelf Bracket to the 
top shelf in the 2nd, 3rd, and 4th shelf holes going from left to right using (3) M6-1.0 x 16mm 
bolts, (3) flat washers and (3) M6-1.0 lock nuts with a 10mm socket and driver. Do not completely 
tighten the M6 bolts yet, allowing some flexibility for installing the shelf unit. 

Finally, position the Front Curb Side Bracket (with cut outs) on the front end panel with the side 
that mounts to the van pointing away from the front of the van as shown in the figure. This is a 
flipped orientation from the 36" inch wide shelf unit. Attach the bracket to the end panel in the 
7th and 8th end panel mounting holes using (2) M6-1.0 x 16mm bolts, (2) flat washers and (2) 
M6-1.0 lock nuts with a 10mm socket and driver as show in the figure. Do not completely tighten 
the M6 bolts yet, allowing some flexibility for installing the shelf unit. 

Repeat with the Curb side 42" wide shelf unit. Use the Rear Curb Side Bracket on the rear end 
panel and the Front Driver Side bracket on the front end panel. The Upper Shelf Bracket will mount 
to the 2nd, 3rd, and 4th shelf holes going from right to left. 

This mounting kit provides the flexibility to install either 36" wide or 42" wide shelf units, or a 
mixed configurations of 36" and 42" inch in the RAM Promaster City van.

1

1

2
3

4

7

8

8

Rear Driver  

Side Bracket

Front Driver  

Side Bracket

TO FRONT OF VAN

Repeat for the Curb side of the van

TO REAR OF VAN FRONT END PANEL

Upper Shelf 

Bracket



8

REAR SHELVING INSTALLATION INSTRUCTIONS (9752-3-01, 975205-3-01 AND 975206-3-01)

STEP 5. Place the Driver Side shelf unit in the van and fit it between the front and rear mounting feet. 

Alight the brackets on the end panels and the shelf with the mounting holes in the van. 

Working from the bottom up, using (2) M6-1.0 x 16mm bolts, (2) flat washers, and (2) M6-1.0 

lock nuts, attach the front mounting foot to front end panel with the 10 mm socket and wrench. 

Do not install the M6-1.0 x 16mm bolts yet when installing 975205-3-01 or 975206-3-01. Do not 

completely tighten yet. Repeat for the other mounting foot. 

Using (1) 7/16-20 x 3/4" bolt and (1) 7/16 flat washer, attach the bracket on the front end panel 

to the van with a 5/8" socket and driver. Do not completely tighten yet. 

Using (2) M6-1.0 x 16mm bolts, attach the Upper Shelf bracket to M6 blind fasteners installed in 

Step 3 with the 10 mm socket and wrench. Do not completely tighten yet. 

Using (1) M6-1.0 x 16mm bolt, attach the Rear Driver Side bracket to the M6 blind fastener 

installed in Step 3 with the 10 mm socket and wrench. Do not completely tighten yet.



9

REAR SHELVING INSTALLATION INSTRUCTIONS (9752-3-01, 975205-3-01 AND 975206-3-01)

STEP 6. Check for shelf unit alignment and straightness and after making any adjustments, tighten the 

mounting hardware. 

Tighten the M6 bolts and lock nuts to 10 ft-lbs. using the 10 mm socket and the torque wrench. 

Tighten the M8 bolts to 15 ft-lbs. using the 13 mm socket and the torque wrench. 

Tighten the 7/16" bolts to 26 ft-lbs using a 5/8" socket and the torque wrench. 

The installation of WEATHER GUARD® Driver Side Rear Shelving Mounting into the 

Promaster City is now complete. 

Repeat the steps 1 through 6 for the Curb Side shelving unit. 



10

FRONT SHELVING INSTALLATION INSTRUCTIONS (975205-3-01 and 975206-3-01)

STEP 7. The following steps will apply to driver side front shelf installation. Passenger side installation 

will mirror the driver side installation using the passenger side specific bracket and a common 

front mounting foot.  

Complete Steps 1 through 6 except the fastening of Driver Side Mid Bracket and 36" Wide Shelf 

Mounting foot.

STEP 8. Remove the OEM plastic trim cover above the sliding door using a Phillips Screw Driver to expose 

the brackets Front Upper Bracket mounting points. Highlighted holes will line up to the mounting 

holes on the Front Upper Bracket. Also note the M6-1.0 threaded stud which will be used to 

secure the 28" shelf end panel.

STEP 9. Remove the OEM plastic caps from the floor mounting points near the front of the floor. Note that 

they are used to install WEATHER GUARD® Bulkhead 96112-3-01 or 96512-3-01. The outer most 

mounting point will be used to install the 28" shelving unit. Be sure to install the bulkhead prior to 

shelving installation when using WEATHER GUARD® Bulkhead 96112-3-01 or 96512-3-01.



11

FRONT SHELVING INSTALLATION INSTRUCTIONS (975205-3-01 and 975206-3-01)

STEP 10. Install the Front Upper Bracket to the 28" shelf using (2) M6-1.0 x 16 mm bolts, (2) flat 

washers, and (2) M6-1.0 lock nuts as shown below. Do not tighten at this time.

STEP 11. Install the Front Mounting Foot the 28" shelf using (2) M6-1.0 x 16mm bolts, (2) flat washers, 

and (2) M6-1.0 and place the 28" shelf alongside 36" Rear Shelving unit. Front Mounting Foot 

will align to the outer most weld nut on the floor. Use a spacer and M8-1.25 x 40mm bolt to 

secure the Front Mounting Foot to the floor.



12

FRONT SHELVING INSTALLATION INSTRUCTIONS (975205-3-01 and 975206-3-01)

STEP 12. Secure the Front and Rear shelving units using (4) M6-1.0 x 16mm bolts, (4) flat washers, and (4) 

M6-1.0 lock nuts through the previously installed Mid Bracket and 36" Wide Shelf Mounting Foot.



13

FRONT SHELVING INSTALLATION INSTRUCTIONS (975205-3-01 and 975206-3-01)

STEP 13. Secure the Front Upper Bracket using (2) M6-1.0 x 16 mm bolts, (2) flat washers, and 

(2) M6-1.0 lock nuts.

STEP 14. Loosely assemble L-bracket, 1.25" Spacer, and a Mounting Strap using (2) washers, M6-1.0 

x 50mm bolt, and a M6-1.0 lock nut. L-bracket and Mounting Strap are supplied with the 

shelving unit. Attach the assembly to the threaded stud using a washer and a M6-1.0 Lock 

Nut. Attach the Mounting Strap to the end panel using M6-1.0 x 16 mm bolt, flat washers, and 

M6-1.0 lock nut.



14

FRONT SHELVING INSTALLATION INSTRUCTIONS (975205-3-01 and 975206-3-01)

ACCESSORIES AND REPLACEMENT PARTS

STEP 15. Check for shelf unit alignment and straightness and after making any adjustments. 

Tighten the M6 bolts and lock nuts to 10 ft-lbs. using the 10 mm socket and the torque wrench. 

Tighten the M8 bolts to 15 ft-lbs. using the 13 mm socket and the torque wrench. 

Tighten the 7/16" bolts to 26 ft-lbs using a 5/8" socket and the torque wrench. 

The installation of WEATHER GUARD® Driver Side Front Shelving Mounting Kit 9752-3-01 into 

the RAM Promaster City is now complete. 

Repeat the Steps 7 through 14 for the Curb Side shelving unit.

PART NO. Description

9122-3-01 28" x 10.5" Accessory Shelf

9123-3-01 36" x 10.5" Accessory Shelf

9142-3-01 28" x 13.5" Accessory Shelf

9143-3-01 36" x 13.5" Accessory Shelf

9602-3-01 28" x 14.5" Accessory Back Panel

9602-3-02 28" x 8" Accessory Back Panel 

9603-3-01 36" x 14.5" Accessory Back Panel

9603-3-02 36" x 8" Accessory Back Panel 

9702-3-02 28" Accessory Retainer Lip

9703-3-02 36" Accessory Retainer Lip

72830 Promaster City Bolt Kit for Rear Shelf Mounting Kit

72831 Promaster City Bolt Kit for Side Shelf Mounting Kit

Learn more about bed accessories on our website.

https://www.carid.com/bed-accessories.html



